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General Instructions :
(i) This question paper contains two parts — A and B.
(it)  Part A is compulsory for all.
(iit) Part B has two options — Analysis of Financial Statements and
Computerized Accounting.
(iv) Attempt only one option of Part B.
(v)  All parts of a question should be attempted at one place.
©vug h
(arererh wt qon wrafyat & forg erarie)
PART A
(Accounting for Partnership Firms and Companies)

1. HEER 0/g & 9 § HisiqR & R0 W AN fod1 S B
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(i) 8% a¥s H WH |
(i) 6% aTM¥s 6 QT H |
(iii) T A & feam S |
(iv) 12% a1f¥e i g F |

In the absence of Partnership Deed, interest on loan of a partner is
allowed :

(6] at 8% per annum.

(i1) at 6% per annum.
(iii) no interest is allowed.
(iv) at 12% per annum.
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Geeta, Sunita and Anita were partners in a firm sharing profits in the
ratio of 5 : 3 : 2. On 1.1.2015 they admitted Yogita as a new partner for
1/10*" share in the profits. On Yogita’s admission, the Profit and Loss
Account of the firm was showing a debit balance of ¥ 20,000 which was
credited by the accountant of the firm to the capital accounts of Geeta,
Sunita and Anita in their profit sharing ratio. Did the accountant give

correct treatment ? Give reason in support of your answer.
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On the death of a partner, his share in the profits of the firm till the date
of his death is transferred to the :

(1) Debit of Profit and Loss Account.
(ii) Credit of Profit and Loss Account.
(iii) Debit of Profit and Loss Suspense Account.

(iv) Credit of Profit and Loss Suspense Account.
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67/1

3, TS a7 G Uh BH o HISIGR & AYT 5 : 3 : 2 % AU H AN died
¥ | 1.4.2014 ¥ IEN @ SO died F Foly o | 3w R F o vt H
STt <1 eIk T 2,40,000 febam I |

I, A qU1 G & oY GeWeH U # ufedd % sRw w@nfa &
|G & o sTravas UsHm=n sfafe i |

Anant, Gulab and Khushbu were partners in a firm sharing profits in the
ratio of 5 : 3 : 2. From 1.4.2014, they decided to share the profits equally.
For this purpose the goodwill of the firm was valued at
T 2,40,000.

Pass necessary journal entry for the treatment of goodwill on change in
the profit sharing ratio of Anant, Gulab and Khushbu.

39 % gor =T e @i |
Give the meaning of forfeiture of shares.
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1) T 2,25,000
@) ¥ 2,20,000
(i) I 2,21,000
av) < 2,19,500
Nirman Ltd. issued 50,000 equity shares of ¥ 10 each. The amount was
payable as follows :
On application — ¥ 3 per share
On allotment — T 2 per share
On first and final call — The balance
Applications for 45,000 shares were received and shares were allotted to
all the applicants. Pooja, to whom 500 shares were allotted, paid her
entire share money at the time of allotment, whereas Kundan did not pay
the first and final call on his 300 shares. The amount received at the time
of making first and final call was :
(i) T 2,25,000
(ii) T 2,20,000
(iii) ¥ 2,21,000
(iv) ¥ 2,19,500
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Guru Ltd. invited applications for issuing 5,00,000 equity shares of
T 10 each at a premium of ¥ 5 per share. Because of favourable market
conditions the issue was over-subscribed and applications for 15,00,000
shares were received.

Suggest the alternatives available to the Board of Directors for the
allotment of shares.
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On 1.4.2013, Brij and Nandan entered into partnership to construct
toilets in government girls schools in the remote areas of Uttarakhand.
They contributed capitals of T 10,00,000 and ¥ 15,00,000 respectively.
Their profit sharing ratio was 2 : 3 and interest allowed on capital as

provided in the Partnership Deed was 12% per annum. During the year
ended 31.3.2014, the firm earned a profit of T 2,00,000.

Prepare Profit and Loss Appropriation Account of Brij and Nandan for
the year ended 31.3.2014.
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‘Quvidha Ltd.’ is registered with an authorised capital of ¥ 10,00,00,000
divided into 10,00,000 equity shares of T 100 each. The company issued
1,00,000 shares for public subscription. A shareholder holding
100 shares, failed to pay the final call of T 20 per share. His shares were
forfeited. The forfeited shares were re-issued at ¥ 90 per share as fully
paid up.

Present the ‘Share Capital’ in the Balance Sheet of the company as per
Schedule VI Part I of the Companies Act, 1956. Also prepare ‘Notes to
Accounts’.

gﬁmﬁaﬁwﬁﬂhml%ﬁsﬁﬁ%momﬁmm
%@mﬁwﬁaaﬁﬁwﬁﬁﬂaﬂmt@ﬁwaﬂﬁﬁamlw
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‘Good Blankets Litd.’ are the manufacturers of woollen blankets. Blankets
of the company are exported to many countries. The company decided to
distribute blankets free of cost to five villages of Kashmir Valley
destroyed by the recent floods. It also decided to employ 100 young
persons from these villages in their newly established factory at Solan in
Himachal Pradesh. To meet the requirements of funds for starting its
new factory, the company issued 50,000 equity shares of ¥ 10 each and
2,000 8% debentures of T 100 each to the vendors of machinery
purchased for ¥ 7,00,000.

Pass necessary journal entries for the above transactions in the books of
the company. Also identify any one value which the company wants to
communicate to the society.

6




11, 376, 00 AT BT UH A HIHER I AT 4: 3: 3% I | ¥ qied F |
31.3.2014 ! 3! e faawor fmr sehm & o

67/1

ST 17,000 s 8,000
< o 12,000 W 13,000
L LR 28,000 | T 1€ 9,000
oft - kol 27,000
T 70,000 aeftt 1,25,000
i 68,000 1,38,000 | 0T shY st 13,000
1,95,000 1,95,000

30.9.2014 F O F FEE A T | WEEH TG F FGER @ AR H

(@) o 6 wfa & g e e s wR awt % sied 9w %
@ o @ f oreht | e W) awl % e sEM: T 1,90,0005
¥ 1,70,000; T 1,80,000 T T 1,60,000 < |

(@) wﬁmﬁﬁﬁﬁﬁ%mﬁmw,ﬁuﬁwﬁ@ﬁw
IuT % 3 T IFFER hH A | |

(@)  3Eh goft @R % s 9w, AR HiE ], W 8% i o = |

(9) I8 WO W 12% Wi a8 I T =@ |

+01 F Frsaresl 1 Tegd % fore sEe §oft @ I8 WG e dar i
3 3 FOT TAT RO T AT HI Iqb Yot WA # TGN HL fedm = o1 |

v

4

o



67/1

Arun, Varun and Karan were partners in a firm sharing profits in the

ratio of 4 : 3 : 3. On 31.3.2014, their Balance Sheet was as follows :

Liabilities Am;unt Assets Am;unt
Creditors 17,000 | Cash 8,000
Bills Payable 12,000 | Debtors 13,000
Karan’s Loan 28,000 | Bills Receivables 9,000
Capitals : Furniture 27,000
Arun 70,000 Machinery 1,25,000
Vary 68,000 1,38,000 | Karan’s Capital 13,000
1,95,000 1,95,000

On 30.9.2014, Karan died. The Partnership Deed provided for the

~ following to the executors of the deceased partner :

(a) His share in the goodwill of the firm calculated on the basis of
three years’ purchase of the average profits of the last four years.
The profits of the last four years were ¥ 1,90,000; ¥ 1,70,000;
Z 1,80,000 and ¥ 1,60,000 respectively.

(b) His share in the profits of the firm till the date of his death
calculated on the basis of the average profits of the last four years.

(c) Interest @ 8% p.a. on the credit balance, if any, in his Cépital

Account.

(d) Interest on his loan @ 12% p.a.

Prepare Karan’s Capital Account to be presented to his executors,
assuming that his loan and interest on loan were transferred to his

Capital Account.
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Prem, Param and Priya were partners in a firm. Their fixed capitals were
Prem ¥ 2,00,000; Param ¥ 3,00,000 and Priya ¥ 5,00,000. They were
sharing profits in the ratio of their capitals. The firm was engaged in the
sale of ready-to-eat food packets at three different locations in the city,
each being managed by Prem, Param and Priya. The outlet managed by
Prem was doing more business than the outlets managed by Param and
Priya. Prem requested Param and Priya for a higher share in the profits
of the firm which Param and Priya accepted. It was decided that the new
profit sharing ratio will be 2 : 1 : 2 and its effect will be introduced
retrospectively for the last four years. The profits of the last four years
were T 2,00,000; T 3,50,000; ¥ 4,75,000 and ¥ 5,25,000 respectively.

Showing your calculations clearly, pass a necessary adjustment entry to

give effect to the new agreement between Prem, Param and Priya.
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On 1.1.2008, Uday and Kaushal entered into partnership with fixed
capitals of ¥ 7,00,000 and ¥ 3,00,000 respectively. They were doing good
business and were interested in its expansion but could not do the same
because of lack of capital. Therefore, to have more capital, they admitted
Govind as a new partner on 1.1.2010. Govind brought ¥ 10,00,000 as
capital and the new profit sharing ratio decided was 8 :2:5.0On 1.1.2012,
another new partner Hari was admitted with a capital of T 8,00,000 for
1/10%* share in the profits, which he acquired equally from Uday,

Kaushal and Govind. On 1.4.2014 Govind died and his share was taken
over by Uday and Hari equally.

Calculate :

(6] The sacrificing ratio of Uday and Kaushal on Govind’s admission.

(i) New profit sharing ratio of Uday, Kaushal, Govind and Hari on
Hari’s admission.

(iii) New profit sharing ratio of Uday, Kaushal and Hari on Govind’s
death.

‘G=n fafie 6 sfga Ot T 10,00,00,000 ff ST 100 TA®% &
10,00,000 gwar 37wt # fowes off | w4 2,00,000 379t &1 i Tee @
U T o | 31.3.2007 I T gC A % forg wFER A T 30 wia W H
mﬁmlmﬁﬁmﬁmﬁ%mﬁwﬁm%%ﬂﬁﬁﬁﬁawm
ook fomm | st R B sravadiel @ gl e % fag e & forf
e 3 Freves qved ¥ gy fre i fashen e @ -

(1) = 100 f¥ 379 % NfiEm | 47,500 GHaT 9 61 FHEA |

G) ¥ @ AT o forn S S 12% Wid a¥ % S W 39y 41 |
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111 10,00,000

1\Y 20,00,000

\% 30,00,000

;R 40,00,000
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‘Ananya Ltd.” had an authorized capital of ¥ 10,00,00,000 divided into
10,00,000 equity shares of ¥ 100 each. The company had already issued
2,00,000 shares. The dividend paid per share for the year ended
31.3.2007 was ¥ 30. The management decided to export its products to
African countries. To meet the requirements of additional funds, the
finance manager put up the following three alternate proposals before the
Board of Directors :

(1) Issue 47,500 equity shares at a premium of T 100 per share.

(ii) Obtain a long-term loan from bank which was available at 12% per
annum.

(iii) Issue 9% debentures at a discount of 5%.

After evaluating these alternatives the company decided to issue
1,00,000, 9% debentures on 1.4.2008. The face value of each debenture
was ¥ 100. These debentures were redeemable in four instalments
starting from the end of third year, which was as follows :

Year Amount
L

111 10,00,000

v 20,00,000

A" 30,00,000

VI 40,00,000
Prepare 9% debenture account from 1.4.2008 till all the debentures were
redeemed.

67/1 ; 11 P.T.O.
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Mala, Neela and Kala were partners sharing profits in the ratio of
3:2:1. On 1.3.2015 their firm was dissolved. The assets were realized
and liabilities were paid off. The accountant prepared Realisation

Aﬁcount, Partners’ Capital Accounts and Cash Account, but forgot to post

few amounts in these accounts.

You are required to complete these below given accounts by posting

correct amounts.

67/1

Realisation Account
Dr. Cr.
Particulars Am;unt Particulars Am;unt
o ; By Provision for bad
To Sundry Assets s Aelits 1,000
Machinery 10,000 By Sundry Creditors 15,000
Stock 21,000 By Sheela’s Loan 13,000
By Repairs and
Debtors 20,000 KLl Besorve 1,200
Prepaid Insurance 400 By Cash — Assets sold :
| t t 3,000
it : 54,400 Machinery 8,000
To Mala’s Capital A/c 13,000 Staik 14,000
— Sheela’s Loan
To Cash — Creditors paid 15,000 Debtors 16,000 | . 35 gg9
To Cash — Dishonoured bill 5.000 i s 2.000
paid i Investments 5
To Cash — Expenses T RS, T R A g [ S
88,200 88,200
14




Capital Accounts

Dr. Cr.
Particulars Mil = Ne; la Kgla Particulars Mgla Ne; la Kgla
To Cash | 12,000 | 9,000 By Cash 1,000
23,000 | 15,000 | 3,000 23,000 | 15,000 | 3,000
Cash Account
Dr. Cr.
Particulars Am;unt Particulars Am;unt
By Realisati
To Balance b/d 5500 [ RBAnESEaR Y e e
— Creditors paid
SerBealyist b e 38,000 | By Dishonoured bill 5,000
— Sale of assets
To Kala’s Capital A/c 1,000 cinvriale
By Mala’s Capital A/c 12,000
By Neela’s Capital Alc 9,000
41,800 41,800
16. e, ffiRe Y T 10 7% ¥ 1,00,000 FHaT 3iE H T 10 Afq 3w &

Hfiftem 7@ frifid @ % Rie e smfEa ey | oftt Fre yor & 33 o
e | — = 10 9 3w (T 5 Hiftem afza)

ATEEA W — I
o ot w9 @ sfrea @ T | U smEwe, e 9@ 300 W A, 3 i
379 TR 1 AW e % WY R @ | v 1= siwunes, s 9 200
P.T.O.
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BMY Ltd.’ invited applications for issuing 1,00,000 equity shares of
F 10 each at a premium of ¥ 10 per share. The amount was payable as

follows :
On application — T 10 per share (including ¥ 5 premium)
On allotment — The balance

The issue was fully subscribed. A shareholder holding 300 shares paid
the full share money with application. Another shareholder holding 200
shares failed to pay the allotment money. His shares were forfeited. Later
on these shares were re-issued for ¥ 4,000 as fully paid up.

Pass necessary journal entries for the above transactions in the books of
BMY Litd.

OR

.
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‘Blue Star Ltd.” was registered with an authorized capital of ¥ 2,00,000
divided into 20,000 shares of ¥ 10 each. 6,000 of these shares were
issued to the vendor for building purchased. 8,000 shares were issued to
the public and ¥ 5 per share were called up as follows :

On application — ¥ 2 per share

On allotment — T 1 per share

On first call — Balance of the called up amount
The amounts received on these shares were as follows :

On 6,000 shares — Full amount called

On 1,250 shares —- ¥ 3 per share

On 750 shares — ¥ 2 per share
The directors forfeited 750 shares on which ¥ 2 per share were received.

Pass necessary journal entries for the above transactions in the books of
Blue Star Ltd.

17.  30W, U9 a9 Wif~d UH B 3§ Qisigr & 991 3 : 2 : 1% 3ua § & §ied 9 |
1 319, 2014 =i 37! Tefa foeor fsr wshm @ o :

ISt @ : gftr qem wea 3,64,000
M 3,58,000 T agr e 2,95,000

T 3,00,000 ETict 2,33,000
wi 2,62,000 9,20,000 | 3= faret 38,000
T G 48,000 | fafae SR 90,000
[SE 1 1,60,000 | & - 1,11,000
27 fa= | 90,000 | < g I8 87,000
12,18,000 12,18,000

39y fafdr &6t = wiat W g™ 1w T AR SHR TR
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BT |
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(v)  oft qen we & qed B 10% ¥ ST ST |
(vi) @rder % dft @l @ EwrEed gAH St % SR W SAh T
HEATSA 3UTa | =] Qa1 @ieieht fehan STe |
TfeieRA @ ad WEert % Yot @ i |
areran
ﬁﬁm,www&ﬁﬁmﬁwys:zﬁwﬁmaﬁ
3 | 1.4.2014 Y a1 fEufa foaror fet s & on

fafay aeR | 41,400 | 5% ¥ Uhs 33,000

Ioft @ : fafew G9ee 30,450
oI : gEa WU

Sfeer 1,20,000 fe yagm 1,050 929,400

g% 90,000 LSAC 48,000

ST 60,000 2,70,000 | GF a1 A 51,000

ffl qen Wed 1,50,000

3,11,400 3,11,400

g% @0 @Wreed | difga o, Id: 384 B U EHE oF w1 Alfed e |

1.4.2014aﬁwanﬁm§3n,ﬁaﬁmﬁﬁnwﬁﬁ:

G)  off 91 weH F YeA B 10% § TG ST |

Gi) Tod O % U WU 3 SEwEhdl TE R |

(iii) &% 1 qoF 20% q TS @M |

(v) B $ @I B eT T 54,000 7 a1 T | 3EH | GE & WA H
SRR qu 9 H §o @l wwEfoa e Smem | S Wl @
HEHISH U 2:1 2 |

v) 7% wE T wd & w6 3w a@ ¥ O st st 6 9w
IR A1 9 T @ FEWISH I H @ | 39 foTY S1awEs TIq
AR ST@ 3F%eT YA 8 |

qfeRIiE @Al gl Al % Yol @i A R |
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Om, Ram and Shanti were partners in a firm sharing profits in the ratio
of 3:2: 1. On 1% April, 2014 their Balance Sheet was as follows :

Liabilities Am;unt Assets Am;unt
Capital Accounts : Land and Building 3,64,000
Om 3,58,000 Plant and Machinery | 2,95,000
Ram 3,00,000 Furniture 2,33,000
Shanti  2.62,000 | 920,000 | Bills Receivables 38,000
General Reserve 48,000 | Sundry Debtors 90,000
Creditors 1,60,000 Stock 1,11,000
Bills Payable 90,000 | Bank 87,000
12,18,000 12,18,000

On the above date Hanuman was admitted on the following terms :
(i)  He will bring ¥ 1,00,000 for his capital and will get 1/10* share in

The goodwill of the firm was valued at ¥ 3,00,000.

the profits.
(ii)
(1ii)

discounted.
(iv)
(v)

(vi)

He will bring necessary cash for his share of goodwill premium.
A liability of ¥ 18,000 will be created against bills receivables

The value of stock and furniture will be reduced by 20%.
The value of land and building will be increased by 10%.
Capital accounts of the partners will be adjusted on the basis of

Hanuman’s capital in their profit sharing ratio by opening current

accounts.

Prepare Revaluation Account and Partners’ Capital Accounts.

OR
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Xavier, Yusuf and Zaman were partners in a firm sharing profits in the

ratio of 4 : 3 : 2. On 1.4.2014 their Balance Sheet was as follows :

Liabilities Am;unt Assets Am;unt

Sundry Creditors 41,400 | Cash at Bank 33,000
Capital Accounts : Sundry Debtors 30,450

. Less : Provision for

Xavier 1,20,000 Bad Debts __ 1,050 | 29400

Yusuf 90,000 e 48,000

Rt 60,000 | 2,70,000 | ©'2nt and Machinery 81,000

Land and Building 1,50,000

3,11,400 3,11,400

Yusuf had been suffering from ill health and thus gave notice of
retirement from the firm. An agreement was, therefore, entered into as

on 1.4.2014, the terms of which were as follows -

()
(i1)
(iii)

(iv)

That land and building be appreciated by 10%.
The provision for bad debts is no longer necessary.
That stock be appreciated by 20%.

That goodwill of the firm be fixed at = 54,000. Yusuf's share of the

same be adjusted into Xavier’s and Zaman’s Capital Accounts, who
are going to share future profits in the ratio of 2 : 1.

(v)

The entire capital of thge newly constituted firm be readjusted by

bringing in or paying necessary cash so that the future capitals of
Xavier and Zaman will be in their profit sharing ratio.

Prepare Revaluation Account and Partners’ Capital Accounts.
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ECLCRE]
(Forefrar feraont @ Fergetaon)
PART B
(Analysis of Financial Statements)

fefifiaa §f § FH-8 A4 ¥ kv Y48 BN ?
(i) 9% ¥ T 20,000 HT IATE |
Gi) Wi 3 fahamatl ® € 20,000 % 9% T H R |

(i) oFeRl & T 19,000 N f6T T |

(iv) &% ® Z 10,000 % = 51 fohT |

Which of the following transactions will result into flow of cash ?

@) Cash withdrawn from bank ¥ 20,000.

(i) Issued T 20,000, 9% debentures for the vendors of machinery.
(iii) Received ¥ 19,000 from debtors.

(iv) Deposited cheques of ¥ 10,000 into bank.

ﬁaﬁﬁﬁﬁﬂhﬁmm%ﬁ%%a@mﬁwmm
mmwﬁwmﬁmmﬁmwasmm
o # e e | @ 3eR ¥ wa TR 2 SR /sy |

The accountant of Manav Ltd. while preparing Cash Flow Statement
added depreciation provided on fixed assets to net profit for calculating
cash flow from operating activities. Was he correct in doing so ? Give
reason.

st SAfafrm, 1956£r¥ﬁwnm1%awm=ﬁ%f@|ﬁfaamﬁ
£ w8l Y R e vl aen Su-sfient % sr=mia quiEr ST

G  om-ar fawn g gt wf g 'l |

Gi) i wem E= T |

(iii) ©UgH |

(iv) Wi 9 gfded = |

(v)  3Tcd AT |

(vi) Wad |

(vii) SHTH |

(viii) <=l HISA |
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22,

671

Under which major headings and sub-hea
shown in the Balance Sheet of a com

Companies Act, 1956 :

1) Net loss as shown by Statement of Profit and Loss.

(i1)

Capital redemption reserve.

dings will the following items be
pany as per Schedule VI Part I of the

(i1i) Bonds.

(iv) Loans repayable on demand.

(v)  Unpaid dividend.

(vi)  Buildings.

(vii) Trademarks.

(viii) Raw materials.

T SHEHI 1 A I 2-1: 1-2 ] | RO 23 gU 7150 Fh Frferiae e
T I T, TN HAqaT 3T HIE GRadT T4 @ -

() ¥ 1,00,000% 9% O H WLT 10% H TRm w R |

(i) SIRRI ¥ T 17,000 ¥ fpu |

(i) WA < fsharadt T 2,00,000 F FHar 7w H1 Fifae fear |

(iv) <verl grr for@ Mo = 7,000 % fafimg o wfier fpu |

The Current Ratio of a company is 2-1 : 1-2. State with reasons which of
the following transactions will increase, decrease or not change the ratio :
(i) - Redeemed 9% debentures of = 1,00,000 at a premium of 10%.

(i1)  Received from debtors ¥ 17,000.

(iii) Issued T 2,00,000 equity shares to the vendors of machinery.

(iv)  Accepted bills of exchange drawn by the creditors ¥ 7,000.

FH AN W SARE @S F I A Al FEe Gmi hee w5
- ‘@ ywa ? | TH YEUH A HHEH Vedl, IHEER aur
AR # | 81.3.2014 H W gu AW #F weeh w1 g @ g T |
mﬁﬁwmﬁamﬁamﬁﬁaﬁwmmﬁaﬁﬁaﬁ%wﬁ
T X A S8 A w1 fvky B

31.3.2013 91 31.8.2014 ! AT §C I8 % e eaeht =1 gomTens ez
Taamor = gy 3 % :

i fefies
T ATH-gTi ferawon
Siatin AT | 2012-13[2013—- 14| fam %
se| = s qfEds ¢ | RadA
SREHAT ¥ AT 20,00,000 | 30,00,000 | 10,00,000| 50
T — FHHAN fEaemy = 12,00,000 | 14,00,000 |  2,00,000 | 16.67
Hqd AT 8,00,000 | 16,00,000 | 8,00,000 | 100
H25% H WA 2,00,000 | 4,00,000 | 2,00,000| 100
L 9¥Eq 6,00,000 | 12,00,000 |  6,00,000 | = 100
22
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G  317H, 20136m2014aﬁm§qaﬁ%mmma§maﬁ
TORT IR |

(ii) ﬁr@fawﬁeﬁwﬁﬁq,ﬁ%‘wﬁ%ﬁé@mmm
2 4

The motto of ‘Pharma Ltd.’, a company engaged in the manufacturing of
low-cost generic medicines, is ‘Healthy India’. Its management and
employees are hardworking, honest and motivated. The net profit of the
company doubled during the year ended 31.3.2014. Encouraged by its
performance, the company decided to pay bonus to all employees at
double the rate than last year.

Following is the Comparative Statement of Profit and Loss of the
company for the years ended 31.3.2013 and 31.3.2014.

Pharma Ltd.

Comparative Statement of Profit and Loss

_ Note | 901213 | 201314 | Absolute o
Particulars No. . z Change ¥ | Change
Bewenus fram 20,00,000 | 30,00,000 | 10,00,000 50
operations !

Less : Employees

12,00,000 | 14,00,000 2,00,000 16-67
benefit expenses

Profit before tax 8,00,000 | 16,00,000| 8,00,000| 100
Tax at 25% rate 2,00,000 |  4,00,000| 2,00,000 100
Profit after tax 6,00,000 | 12,00,000 6,00,000 100

1) Calculate Net Profit Ratio for the years ending 31*" March, 2013
and 2014.

(i)  Identify any two values which ‘Pharma Ltd.’ is trying to propagate.
23 P.T1.0.



23.  31.3.2014 ! AR Uik fafiRe w1 foufa faaw i R & 2 -

Arer uier feafiee
fearfar frawo
31.3.2014 | 31.3.2013
e T T
I — |HAT 99T a9ary :
1. | sfvramdt Ffewt .
) oW g 24,00,000 | 22,00,000
() 9= .qa? anTferrT 6,00,000 |  4,00,000
2. | A ﬁ'ﬂﬂT& 3
eiehTefl /01 4,80,000 |  3,40,000
3. inﬁ\a!ﬁnﬁ -
(31) =TS SFATY 3,58,000 | 4,08,000
) CAKIERICRIE] 1,00,000 | 1,54,000
L5 39,38,000 | 35,02,000
I - afEwatfe
1. | er=rer et
(31) Towh ufatt :
(1) 7 21,40,000 | 17,00,000
(i) 3Tgd 80,000 |  2,24,000
2. EITF{\Uﬁ'HWﬁNT 2
(31) = Frew 4,80,000 |  3,00,000
(W) Wi (wragEt) 2,58,000 | 2,42,000
(|) =TT wiftaat 3,40,000 | 2,86,000
(2) Uehg aul Uk Tod 6,40,000 | 7,50,000
A 39,38,000 | 35,02,000
67/1 24
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@t & Aed

M | o 31.3.2014 A1 | 31.3.2013 %!
i 3 T
1 | @ ua enfee
i 6,00,000 4,00,000
aniferrr (emv-gr faemor 1 9)
2 | ud ufEafat
- 25,40,000 20,00,000
(4,00,000) (3,00,000)
TR : UehAd HedgE
i Eﬁ : 80,000 2,24,000
? > ?
St G :

Uehg YaTg faawor dar i |

25

f § v Wi fwmehl wm@ T 48,000 oft du fm W wwHbA qemE
Z 32,000 o1 1 T 12,000 § &= fezm m |
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Following is the Balance Sheet of Solar Power Ltd. as at 31.3.2014 :

Solar Power Ltd.
Balance Sheet
Note | 31.3.2014 31.3.2013
Particulars No. T &
I - Equity and Liabilities :
1. | Shareholder’s Funds :
(a) Share Capital 24,00,000 22,00,000
(b) Reserves and Surplus 1 6,00,000 4,00,000
2. | Non-Current Liabilities :
Long-Term Borrowings 4,80,000 3,40,000
3. | Current Liabilities :
(a) Trade Payables 3,58,000 4,08,000
(b) Short-Term Provisions 1,00,000 1,54,000
‘ Total 39,38,000 |  35,02,000
II - Assets :
1. | Non-Current Assets :
(a) Fixed Assets :
(i) Tangible 2 21,40,000 17,00,000
(ii) Intangible 3 80,000 2,24,000
2. | Current Assets :
(a) Current Investments - 4,80,000 3,00,000
(b) Inventories 2,58,000 2,42,000
(¢) Trade Receivables 3,40,000 2,86,000
(d) Cash and Cash equivalents 6,40,000 7,50,000
Total 39,38,000 35,02,000
67/1 26
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Notes to Accounts

As on As on
S.No. | Particulars 31.3.2014 | 31.3.2013
T T
1. | Reserves and Surplus
Surplus (balance in Statement of | 6,00,000 | 4,00,000
Profit and Loss)
g a:tfh?:ffssets 25,40,000 | 20,00,000
Less : Accumulated Depreciation (4,00,000) | (3,00,000)
T i
. GI:)z?intﬂllb s 80,000 | 2,24,000

Additional Information :

During the year a piece of machinery costing ¥ 48,000 on which

accumulated depreciation was ¥ 32,000 was sold for ¥ 12,000.

Prepare Cash Flow Statement.

ded SHa & foe ‘wa s qur 9 g Wd R % e ‘wdemw.

TS W
(erfrenfora craied)
PART B

(Computerized Accounting)

Fr=taRaa o 9 foras 3gmw € 2

(i) TS (ATh) HigH |

(i) iy wgrEe (FEifAs) wigg |
(iii) 3TPRibe (Hwrpfiaer) wigg |
(iv) @@W@Eﬁ I

‘SJ’ for sales journal and ‘NDRS’ for New Delhi railway station are the

examples of which of the following ?
(1) Block codes.

(ii)
(11i)
(iv)

Mnemonic codes.
Sequential codes.
Accounting codes.
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oed & WEd g % ST & 10 W ae Biegw B wed §

() it FlogH |
(i) o Pregy |
(i) IqE hiegy |
(iv) 4gH biesd |

The common fields used in a relationship between tables are called :

(1)  Key fields.

(ii)  Table fields.

(iii) Main fields.

(iv)  Joint fields.

=1 da-99 safy F faw wdfeat’ i o w0 wwm om i @ 99 a@
Tl B 3g@ hHifve |

State the elements which are considered while calculating ‘deductions’ for
current payroll period.

Sfl.wn s, o o § 2 sue el 9 el @) wwEE |
What is meant by ‘DBMS’ ? Explain any two of its advantages.

% /=1E 1 39T A o gl 31 @il =l Gwesy |

Explain any two advantages of using graphs/charts.

HYd T (FSAa Hiile) I seem ag fo 9 o =il @ sgE Hif |

State the steps to be followed to change conditional format.
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